HERNB—E (FEERA) R5.9.22 #RTTEEARER

1 SAMR (AEES) N . .

B RS AR MEERFTE R

(R6~R7) £} ' & BUWEbHEE

ANREE FRAREE KBHEE 720 1,080 360 150 M/h
hEHEE 360 360 0 1.00 M/h
INGHEE 230 230 0 1.00] F/h
HERTE 360 360 0 100 F/h HEEE
= 360 360 0 100 F/h 0985-85-1834
BE=E 230 360 130 157 M/h
IHEE 360 230 | A 130 0.64| HM/h
AEEERN ERHDIE 0 M/h
HAHAREE E HEER 8 A 670 360 | A 310 054 M/h
AEEEAN 310 0| A3I0 0.00 F/h
AR X REE = i ER A 380 360 A 20 095 M/h
MEEEAN 310 0| A3I0 0.00 F/h
4 HEER 8 A 380 230 | A 150 061 M/h
AEEEAN 100 0| A100 0.00 F/h
2 S 330 130 | A 200 039 M/h
EE 620 360 | A 260 058 FM/h
AE AL X 2 REE S2BE HEER 8 A 290 130 | A 160 045 M/h
AEEEAN 100 0| A100 0.00 F/h
T HEER 8 A 670 360 | A 310 054 M/h .
AERERE 310 o| a3t o000 Am 1@;?8:‘.55%;;
EE 620 360 | A 260 058 FM/h
A E i X 2 REE HE=RIMEE HEER 8 A 270 230 A 40 085 M/h
MEEEAN 100 0| A100 0.00 F/h
REBE HEER 8 A 670 360 | A 310 054 M/h
MEEEAN 310 0| A3I0 0.00 F/h
EE 620 360 | A 260 058 FM/h
ZTotDrREE RERE 720 | 1,080 360 150 F/h
FREBE 360 360 0 1.00 M/h
INSERE 230 230 0 1.00] F/h
EE=E 360 360 0 1.00 M/h
AEEERN ERHDIE 0 M/h
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1 o (ARES) A B Cc
itz 2— Z BHHR—IL 720 = 1,080 360 150 M/h
FEE 360 = 360 0 1.00 M/h
= 230 = 230 0 1.00] F/h
HEEEE 360 = 360 0 1.00 M/h
AEEERN ERHDIE = 0 M/h
RAREMEIZ2 =T 59— RERE 720 = 1,080 360 150 M/h
FREBE 360 = 360 0 1.00 M/h
INSERE 230 = 230 0 1.00] F/h
EE=E 360 = 360 0 1.00 M/h
AEEERN ERHDIE = 0 M/h
EMRERELVE— |[ENORENRREREE 2— ZBHIR—IL 720 = 1,080 360 150 M/h
REBE 360 = 360 0 1.00] F/h
INSERE 230 = 230 0 1.00] F/h
= 360 = 360 0 1.00] F/h
HEEEE 360 = 360 0 1.00 M/h
F=2a—h 100 - 460 360 460 M/h iﬁg?;f;i?aﬁ
AEEERN ERHDIE = 0 M/h
EXRBRENREREL S~ |ZEMNR—L 550 910 1,080 530 1.96] FM/h
HE= 430 = 360 A 70 084 M/h
HFBRENREREL 2 — BEIMEE 430 = 360 A 70 084 M/h
REETHEE 430 = 360 A 70 084 M/h
MEFHEE 490 = 230 | A 260 047 M/h
ZBMR—IL 390 | 750 1,080 690 277 M/h
AEEEAN HHE=E 200 = 0| A200 0.00 F/h
ZBMR—IL 1,050 = 0| A 1,050 0.00[ HM/h
HERBRENREREL I~ |FL—=UPE 290 = 360 70 124 M/h
"RE 470 = 230 | A 240 049 HM/h
EE 660 = 360 | A 300 055 FM/h
REBE 160 = 130 A 30 081 HM/h
MEEEAN ERE 200 = 0| A200 0.00 F/h
REBE 100 | = 0| A100 0.00[ HM/h
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1 o (ARES) A B Cc
EMRERELVE— [EEBRENRRERE 2— REBE 500 = 360 | A 140 072 F/h
REHEE 500 = 360 | A 140 072 F/h
RERIEEE 500 = 360 | A 140 072 F/h
REEBE 120 = 130 10 1.08| M/h
A= 120 = 130 10 1.08| M/h
EERETHEE 380 = 230 | A 150 061 FM/h
BEEREMES— 120 = 130 10 108 FM/h Mt 31 =522
% B #tk—)L 1,800 | - 1080 | A 720 060 F/h 0985-21-1714
AEEEAN 200 = 0| A200 0.00 F/h
TR 2> REE "RE 310 = 360 50 1.16| F/h
FEE 100 = 230 130 230 FM/h
RE=E 100 = 130 30 130 M/h
MEHRERE 100 = 360 260 3.60| FM/h
AEEERN = 0 M/h
BRARSEL E— EEE 0 = 130 130 MA/h
EE=E2 0 - 230 230 M/h b - RIEEE
R—JL 0 = 1,080 1,080 M/h 0985-21-1835
REEE 0 = 360 360 MA/h
RERIUREELY— HE=E 440 - 360 A 80 082 FA/h
REEE 340 = 360 20 1.06| M/h .
FAEREE 340 = 360 20 1.06| FM/h Oﬁgjfz?fﬁ 4
= 340 | = 360 20 1.06| F/h
AEEERN ERHDIE = 0 M/h
EEELREE2—T2EE] REBE 150 = 230 80 153 M/h
KBHEE 550 = 360 | A 190 0.65| FM/h
hEHEE 420 = 360 A 60 086 M/h
INGHEE 150 | = 230 80 153 F/h
FrJ— 150 = 130 A 20 087 HM/h O;%E%%E%Z
HEEE=E 720 = 360 | A 360 050 F/h
MEEEAN SHE.NFEE, ¥r5U— 200 = 0| A200 0.00 F/h
hHHEE, HEREE 310 = 0| A3I0 0.00 F/h
KBHEE 420 | = 0| A420 0.00[ HM/h
MITHE B LW ERE L a— 2 BR—IL 550 910 1,080 53  1.96| F/n X"g;gz;’_ ;ﬁfg
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MEERFTE R
HAY=F ke

BT/ VY —F =R E L5~ KEHEE 240 - 360 120 150 F/h T R
INGHEE 140 - 230 90 164 HM/h 0985-21-1793
EXRZFTSY (REHREEE 2 2—) INR—IL 1,100 - 1,080 A 20 098 FA/h
HE= 1,100 = 1,080 A 20 098] M/h
= 460 = 360 | A 100 078 HM/h
BlE= 360 = 360 0 1.00 M/h
REEEE 360 = 360 0 100 A/ | k4 [E- Hhigi T R4S AL
EE 360 - 230 | A 130 064 F/h 0985-73-1111
REEE 360 = 360 0 1.00 M/h
TERPHE = 360 = 230 | A 130 064 M/h
AEEERN ERHDIE = 0 M/h
EEhLRB=HREEE 100 | = 130 30 1.30| F/h
EEXRITY REBE 360 = 360 0 1.00 M/h
= 230 = 230 0 1.00] F/h
EE 360 = 360 0 1.00] F/h
ZBME 230 = 230 0 1.00] F/h N )
2 B2 230 - 230 of 100 mm | ® 'ﬁ:ﬁfgﬁ*ﬁmﬁ
(= 360 = 230 | A 130 064 M/h
ZBMR—IL 720 = 1,080 360 150 M/h
ZEMTIIUF 840 | = 940 100 112 FA/h
AEEERN ERHDIE = 0 M/h
BEMAMtE— EEREHARE 510 = 360 | A 150 071 F/h
REBE 510 = 360 | A 150 071 HM/h N o
HILR AT THE 25— RHFEE 510 - 360| a1s0 o071 M/ %0?8.5%8*;-%51;5%
INGHEE 380 = 130 | A 250 0.34| HM/h
REEE=E 380 = 360 A 20 095 M/h
B R = RESR =E 710 - 360 | A 350 051| F/h {LEfE
£HE 200 - 13 A 70 065 F/h 0985-85-1178
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